



#### AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

#### Topic: 1.8 – Problems On Reduction of Quadratic Form

$$2x_{1}x_{2} + 2x_{1}x_{3} - 2x_{2}x_{3}$$

$$A = \begin{bmatrix} 0 & 1 & 1 \\ 1 & 0 & -1 \\ 1 & -1 & 0 \end{bmatrix}$$

$$S_{1} = 0$$

$$S_{2} = \begin{bmatrix} 0 & -1 \end{bmatrix} + \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix} + \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}$$

$$= \begin{bmatrix} C-1 \end{bmatrix} + \begin{bmatrix} C-1 \end{bmatrix} + \begin{bmatrix} C-1 \end{bmatrix} + \begin{bmatrix} C-1 \end{bmatrix}$$

$$= -3$$

$$S_{3} = 0 + 1 (0 + 1) + (-1)$$

$$= -1 - 1$$

$$S_{3} = -2$$

$$\lambda^{3} - 3\lambda + 2 = 0$$

$$\begin{vmatrix}
1 & 1 & 0 & -3 & 2 \\
0 & 1 & 1 & -2 & 0
\end{vmatrix}$$

$$\begin{vmatrix}
\lambda^{3} + \lambda^{2} - 2 & = 0 \\
(\lambda - 1) & (\lambda + 1) & = 6
\end{vmatrix}$$

$$\lambda = 1, 1, -2$$

$$(A - \lambda I) \times = 6$$





#### AN AUTONOMOUS INSTITUTION

$$-x_{1} + x_{2} + x_{3} = 0$$

$$x_{1} - x_{2} - x_{3} = 0$$

$$x_{1} = 0$$

$$x_{1} = 0$$

$$x_{2} = -x_{3}$$

$$\frac{x_{2}}{-1} = \frac{x_{3}}{-1}$$

$$x_{2} = \begin{bmatrix} 0 \\ -1 \\ 1 \end{bmatrix}$$

$$x_{3} = \begin{bmatrix} 1 \\ m \\ n \end{bmatrix}$$

$$(2 m n) \begin{pmatrix} -1 \\ 1 \end{pmatrix} = 0$$





#### AN AUTONOMOUS INSTITUTION

$$-l + m + n = 6$$

$$X_3 X_2^T = 0$$

$$(l m n) (-1) = 0$$

$$\frac{l}{l+1} = \frac{m}{o+1} = \frac{h}{l}$$

$$\frac{1}{2} = \frac{m}{l} = \frac{h}{l}$$

$$N = \begin{bmatrix} 2 \\ 1 \\ 1 \end{bmatrix}$$

$$N = \begin{bmatrix} -1 & 0 & 2 \\ 1 & -1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$$

$$N = \begin{bmatrix} -1/3 & 0 & 2/\sqrt{6} \\ 1/3 & 1/2 & 1/6 \\ 1/3 & 1/2 & 1/6 \\ 1/3 & 1/2 & 1/6 \\ 1/3 & 1/2 & 1/6 \\ 1/3 & 1/3 & 1/3 \\ 1/$$





#### AN AUTONOMOUS INSTITUTION

$$AN = \begin{bmatrix} 0 & 11 \\ 1 & 0 & -1 \\ 1 & -1 & 0 \end{bmatrix} \begin{bmatrix} -1/\sqrt{3} & 0 & 2/\sqrt{6} \\ \sqrt{\sqrt{3}} & -\sqrt{\sqrt{2}} & \sqrt{\sqrt{6}} \\ \sqrt{\sqrt{3}} & \sqrt{\sqrt{2}} & \sqrt{\sqrt{6}} \\ -2/\sqrt{3} & -\sqrt{\sqrt{2}} & \sqrt{\sqrt{6}} \\ -2/\sqrt{3} & \sqrt{\sqrt{2}} & \sqrt{\sqrt{6}} \\ -2/\sqrt{6} & \sqrt{\sqrt{6}} & \sqrt{\sqrt{6}} & -2/\sqrt{6} & \sqrt{\sqrt{2}} & \sqrt{6} \\ -2/\sqrt{6} & \sqrt{\sqrt{2}} & \sqrt{\sqrt{6}} \\ -2/\sqrt{6} & \sqrt{\sqrt{2}} & \sqrt{6} \\ -2/\sqrt{6} & \sqrt{2} & \sqrt{6} \\ -2/\sqrt{6} & \sqrt{\sqrt{6}} & \sqrt{2} & \sqrt{6} \\ -2/\sqrt{6} & \sqrt{2} & \sqrt{2} \\ -2/\sqrt{6} & \sqrt{2} & \sqrt{6} \\ -2/\sqrt{6} & \sqrt{2} & \sqrt{2} \\ -2/$$

3 
$$2x_1^2 + x_2^2 + x_3^2 + 2x_1x_2 - 2x_1x_3 - 4x_2x_3$$

$$A = \begin{bmatrix} 2 & 1 & -1 \\ 1 & 1 & -2 \\ -1 & -2 & 1 \end{bmatrix}$$

$$Charael. equ is  $\lambda^3 - S_1\lambda^2 + S_2\lambda - S_3 = 0$ 

$$S_1 = 4$$

$$S_2 = \begin{vmatrix} 1 & -2 \\ -2 & 1 \end{vmatrix} + \begin{vmatrix} 2 & 1 \\ 1 & 1 \end{vmatrix} + \begin{vmatrix} 2 & -1 \\ -1 & 1 \end{vmatrix}$$

$$= (1-4) + (2-1) + 2(-1)$$

$$= -3+1+1 = -1$$$$





### AN AUTONOMOUS INSTITUTION

$$S_{3} = 2(1-4) - 1(1-2) - 1(-2+1)$$

$$= -6 + 1 + 1$$

$$= -4$$

$$\lambda^{3} - 4\lambda^{2} - \lambda + 4 = 0$$

$$1 - 4 - 1 + 4 = 0$$

$$1 - 3 - 4 = 0$$

$$(\lambda - 1) (\lambda^{2} - 3\lambda - 4)$$

$$(\lambda - 1) (\lambda - 4) (\lambda + 1)$$

$$\lambda = 1, -1, 4$$





#### AN AUTONOMOUS INSTITUTION

$$\frac{1}{1} \frac{1}{0} \frac{-1}{0} \frac{1}{1} \frac{1}{0}$$

$$\frac{x_1}{-2} = \frac{x_2}{-1+2} = \frac{x_3}{-1}$$

$$x_1 = \begin{pmatrix} -3 \\ -1 \end{pmatrix}$$





### AN AUTONOMOUS INSTITUTION

$$\frac{-24}{1 - 3} = \frac{-2}{2} = \frac{23}{6 - 1}$$

$$\frac{-201}{-2 - 3} = \frac{-2}{-1 - 2} = \frac{23}{6 - 1}$$

$$\frac{-201}{-2 - 3} = \frac{-2}{-1 - 2} = \frac{23}{6 - 1}$$

$$\frac{-201}{-2 - 3} = \frac{2}{6 - 1}$$

$$\frac{-201}{-2 - 3} = \frac{2}{6 - 1}$$

$$\frac{-201}{-2 - 3} = \frac{2}{5}$$

$$\frac{-3}{-3} = \frac{-3}{5}$$

$$\frac{-3}{-1} = \frac{-3}{-2} = \frac{23}{3}$$

$$\frac{-301}{-1} = \frac{2}{2 + 3} = \frac{23}{-2 - 3}$$

$$\frac{-301}{-1} = \frac{2}{2 + 3} = \frac{2}{-2 - 3}$$

$$\frac{-301}{-1} = \frac{2}{2 + 3} = \frac{2}{-2 - 3}$$

$$\frac{-301}{-1} = \frac{2}{2 + 3} = \frac{2}{-2 - 3}$$

$$\frac{-301}{-1} = \frac{2}{-1} = \frac{2}{-1}$$

$$N = \begin{cases} 0 & 2 & 1 \\ 1 & -1 & 1 \\ 1 & 1 & -1 \end{cases}$$

$$N = \begin{cases} 0/\sqrt{2} & 2/\sqrt{6} & \sqrt{3} \\ 1/\sqrt{2} & -1/\sqrt{6} & \sqrt{3} \\ 1/\sqrt{2} & 1/\sqrt{6} & -1/\sqrt{3} \end{cases}$$

$$V = \begin{cases} 0 & 2 & 1 \\ 1 & 1 & -1 \\ 1 & 1 & -1 \end{cases}$$

$$V = \begin{cases} 0 & 2 & 1 \\ 1 & 1 & -1 \\ 1 & 1 & -1 \end{cases}$$

$$V = \begin{cases} 0 & 2 & 1 \\ 1 & 1 & -1 \\ 1 & 1 & -1 \end{cases}$$

$$V = \begin{cases} 0 & 2 & 1 \\ 1 & 1 & -1 \\ 1 & 1 & -1 \end{cases}$$

$$V = \begin{cases} 0/\sqrt{2} & 2/\sqrt{6} & \sqrt{3} \\ 1/\sqrt{2} & -1/\sqrt{6} & \sqrt{3} \\ 1/\sqrt{2} & 1/\sqrt{6} & -1/\sqrt{3} \end{cases}$$





#### AN AUTONOMOUS INSTITUTION

$$N^{T} = \begin{bmatrix} 0/\sqrt{2} & 1/\sqrt{2} & 1/\sqrt{2} \\ 2/\sqrt{6} & -1/\sqrt{6} & 1/\sqrt{6} \\ 1/\sqrt{3} & 1/\sqrt{3} & 1/\sqrt{3} \end{bmatrix}$$

$$AN = \begin{bmatrix} 2 & 1 & -1 \\ 1 & 1 & -2 \\ -1 & -2 & 1 \end{bmatrix} \begin{bmatrix} 0/\sqrt{2} & 2/\sqrt{6} & 1/\sqrt{6} \\ 1/\sqrt{2} & 1/\sqrt{6} & 1/\sqrt{3} \\ 1/\sqrt{2} & 1/\sqrt{6} & 1/\sqrt{3} \end{bmatrix}$$

$$= \underbrace{\begin{bmatrix} 0+1-1 & 1-1-1 & 2+1+1 \\ \sqrt{2} & \sqrt{6} & 1/\sqrt{3} \\ 0-2+1 & 2-1-2 & 1+1+2 \\ \sqrt{2} & \sqrt{6} & 1/\sqrt{3} \end{bmatrix}}_{0-2+1} = \underbrace{\begin{bmatrix} 0+1-2 & 1-2-1 \\ \sqrt{2} & 1/\sqrt{6} & 1/\sqrt{3} \\ 0-2+1 & 1/\sqrt{6} & 1/\sqrt{3} \end{bmatrix}}_{0-2+1}$$

$$AN = \begin{cases} 0 & \frac{2}{16} & \frac{4}{13} \\ -\frac{1}{13} & -\frac{1}{16} & \frac{4}{13} \\ -\frac{1}{13} & \frac{2}{16} & \frac{4}{13} \end{cases}$$

$$N^{T}AN = \begin{cases} 0 & \frac{1}{16} & \frac{4}{16} \\ \frac{2}{16} & -\frac{1}{16} & \frac{4}{16} \\ \frac{2}{16} & -\frac{1}{16} & \frac{4}{16} \end{cases}$$

$$= \begin{cases} 0 & \frac{2}{16} & \frac{4}{13} \\ -\frac{1}{16} & \frac{4}{13} & \frac{4}{13} \\ -\frac{1}{16} & \frac{4}{16} & \frac{4}{13} \\ -\frac{1}{16} & \frac{4}{16} & \frac{4}{13} \end{cases}$$

$$= \begin{cases} -1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 4 \end{cases}$$